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1. Which part of the tobacco plant is infected by 

Meloidogyne incognita? 

1) Leaf 

2) Root 

3) Stem 

4) Flower 

 

2. The trigger for activation of toxin of Bacillus 

thuringiensis is 

1) Alkaline pH of gut 

2) Mechanical action in the insect gut 

3) High temperature 

4) Acidic pH of stomach 

 

3. A new variety of rice was patented by a foreign 

company, though such varieties have been 

present in India for a long time. This is related to 

___ 

1) Lerma Rajo 

2) Co-667 

3) Sharbati sonora 

4) Basmati 

 

4. RNA interference (RNAi) technique has been 

devised to protect the plants from nematode is 

silenced by ___ produced by the host plant. 

1) dsDNA 

2) ssDNA 

3) dsRNA 

4) Target proteins 

 

5. Out of 30 how many recombinant therapeutics 

have been marketed in India? 

1) 10 

2) 12 

3) 30 

4) 14 
 

 

1. nkyha;Nlh[pd; ,d;fhf;dp~pahthy; 
Gifapiy nrbapd; ve;jg; gFjp 
ghjpf;fg;gl;Ls;sJ? 
1) ,iy 
2) Ntu; 
3) jz;L 
4) kyu; 

 

2. Ngrpy]; JupQ;rpnad;rp]pd; er;Rj;jd;ikia 
nray;gLj;Jtjw;fhd J}z;Ljy; 
1) Flypd; fhu pH 
2) G+r;rp Flypy; ,af;f eltbf;if 
3) mjpf ntg;gepiy 
4) tapw;wpd; mkpy pH 

 

3. xU Gjpa tif muprpf;F xU ntspehl;L 
epWtdk; fhg;Gupik ngw;wJ> ,Ug;gpDk; 
,JNghd;w tiffs; ePz;l fhykhf 
,e;jpahtpy; cs;sd. ,J ___ cld; 
njhlu;GilaJ 
1) nyu;kh uhN[h 
2) Co-667 

3) ~u;gjp NrhNdhuh 
4) gh];kjp 

 

4. RNA FWf;fPL (RNAi) El;gk; E}w;GOtpypUe;J 
jhtuq;fisg; ghJfhf;f tFf;fg;gl;Ls;sJ> 
,J tpUe;Njhk;gp jhtuj;jhy; cw;gj;jp 
nra;ag;gLk; ___ My; jLf;fg;gLfpwJ. 
1) dsDNA 

2) ssDNA 

3) dsRNA 

4) ,yf;F Gujq;fs; 
 

5. 30y; vj;jid kWrPuikg;G rpfpr;irfs; 
,e;jpahtpy; tpw;gid nra;ag;gl;Ls;sd? 
1) 10 

2) 12 

3) 30 

4) 14 
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6. Which of the following can be found in acid 

insoluble pool? 

1) Amino acids 

2) DNA 

3) Simple sugars 

4) Nucleotides 

 

7. All of the given bonds are present in a typical 

nucleic acid except 

1) H-bond 

2) Ester bond 

3) Glycosidic bond 

4) Ether bond 

 

8. Number of base pairs present in one full turn of 

the helical strand of B-DNA are 

1) 12 

2) 20 

3) 10 

4) 5 

 

9. Select the phospholipid which is found in cell 

membrane. 

1) Sphingolipid 

2) Lecithin 

3) Cholesterol 

4) Suberin 

 

10. Adult haemoglobin consist of  a  subunits, which 

is of  b  and  c  type. 

Select the option that correctly identifies (a), (b) 

and (c). 

1) a-6, b-α, c-β 

2) a-2, b-α, c-γ 

3) a-5, b-β, c-γ 

4) a-4, b-α, c-β 
 

 

6. mkpyf; fiuahj njhFg;gpy;> gpd;tUtdtw;wpy; 
vijf; fhzyhk;? 
1) mkpNdh mkpyq;fs; 
2) DNA 

3) vspa ru;f;fiufs; 
4) epA+f;spNahilLfs; 

 

7. nfhLf;fg;gl;l midj;J gpizg;GfSk; xU 
nghJthd epA+f;spf; mkpyj;jpy; cs;sd ,ij 
jtpu 
1) H-bond 
2) v];lu; gpizg;G 

3) fpisNfhrpbf; gpizg;G 
4) <ju; gpizg;G 

 

8. B-DNA ,d; n`ypfy; ];l;uhz;bd; xU KO 
jpUg;gj;jpy; ,Uf;Fk; mbg;gil ,izfspd; 
vz;zpf;if 

1) 12 

2) 20 

3) 10 

4) 5 

 

9. nry; nkd;glyj;jpy; fhzg;gLk; 
gh];Nghypg;gpl;ilj; Nju;e;njLf;fTk;. 
1) ];gpq;Nfhypgpl; 
2) nyrpj;jpd; 
3) nfhy];l;uhy; 
4) Rngupd; 

 

10. Kjph;e;NjhUf;fhd P̀NkhFNshgpd; _a_ 

Jizf; FOf;fisf; nfhz;Ls;sJ> ,J _b_ 

kw;Wk; _c_ tifahFk; 
 (a), (b) kw;Wk; (c) Mfpatw;iw rupahf 

milahsk; fhZtijj; Nju;e;njLf;fTk;. 
1) a-6, b-α, c-β 

2) a-2, b-α, c-γ 

3) a-5, b-β, c-γ 

4) a-4, b-α, c-β 
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11. Categorise the following compounds into double 

salts and complex ions. 

I) [Fe(CN)6]4– 

II) [KCl.MgCl2.6H2O] 

III) FeSO4.(NH4)2SO4.6H2O 

IV) KAl(SO4)2.12H2O 

Choose the correct option. 

1) I, II–complex ions; III, IV–double salts 

2) II, III–complex ions; I, IV–double salts 

3) I–complex ion; II, III, IV–double salts 

4) I, II, IV–complex ions; III–double salt 

 

12. A ligand can also be regarded as 

1) Bronsted base 

2) Bronsted acid 

3) Lewis base 

4) Lewis acid 

 

13. Identify the facial (fac) and meridional (mer) 

isomers from the following. 

 
1) mer– mer– 

2) fac– fac– 

3) mer– fec– 

4) fac– mer– 

 

14. The correct statement is 

1) [NiCl4]
–2 is sp3 hybridized and paramagnetic 

in nature 

2) [PtCl4]
–2 is dsp2 hybridised and paramagnetic 

in nature 

3) [Ni(CO)4] is dsp2 hybridised and diamagnetic 

in nature 

4) [Co(H2O)6]
+3 is sp3d2 hybridised and 

diamagnetic in nature 

 

15. The excess of copper and iron are removed by 

chelating ligands 

1) desferrioxime–B 

2) D–penicillamine 

3) Both (1) and (2) 

4) Wilkinson catalyst 

 

11. gpd;tUk; Nru;kq;fis ,ul;il cg;Gfs; kw;Wk; 
mizT madpfs; vd tifg;gLj;jTk;. 
I) [Fe(CN)6]4– 

II) [KCl.MgCl2.6H2O] 

III) FeSO4.(NH4)2SO4.6H2O 

IV) KAl(SO4)2.12H2O 

rupahdij Nju;T nra;aTk;. 
1) I, II-mizT madpfs;; III, IV-,ul;il 

cg;Gfs; 
2) II, III-mizT madpfs;; I, IV-,ul;il 

cg;Gfs; 
3) I–mizT madpfs;; II, III, IV-,ul;il 

cg;Gfs; 
4) I, II, IV-mizT madpfs;; III-,ul;il cg;G 

 

12. xU <dpfs; ,t;thW fUjglyhk; 
1) g;Nuhd;];nll; fhuk; 
2) g;Nuhd;];nll; mkpyk; 
3) Y}ap]; fhuk; 
4) Y}ap]; mkpyk; 

 

13. gpd;tUtdtw;wpypUe;J xUKf (fac) kw;Wk; 
vz;Kfp (mer) khw;wpaq;fis milahsk; 
fhzTk;. 

 
1) mer– mer– 

2) fac– fac– 

3) mer– fec– 

4) fac– mer– 

 

14. ,jpy; rupahd $w;W 

1) [NiCl4]
–2 vd;gJ sp3 fyg;gpdkhdJ kw;Wk; 

ghuhfhe;j jd;ik nfhz;lJ 

2) [PtCl4]
–2 vd;gJ dsp2 fyg;gpdkhdJ kw;Wk; 

ghuhfhe;j jd;ik nfhz;lJ 

3) [Ni(CO)4] vd;gJ dsp2 fyg;gpdkhdJ kw;Wk; 
ilahfhe;j jd;ik nfhz;lJ 

4) [Co(H2O)6]
+3 vd;gJ sp3d2 fyg;gpdkhdJ 

kw;Wk; ilahfhe;j jd;ik nfhz;lJ 

 

15. jhkpuk; kw;Wk; ,Uk;gpd; kpFjpahdJ 
nfhLf;fpizg;G <dpfs; %yk; mfw;wg;gLfpwJ 

1) desferrioxime-B 

2) D-ngd;rpy;yhikd; 
3) ,uz;Lk; (1) kw;Wk; (2) 
4) tpy;fpd;rd; tpidNtf khw;wp 
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16. The equivalent capacitance between the points A 

and B in the following circuit is 

 
1) 1 μF 

2) 2 μF 

3) 4 μF 

4) 8 μF 

 

17. The energy required to charge a parallel plate 

condenser of plate separation ‘d’ and plate area 

of cross–section A such that the uniform electric 

field between the plates E, is 

1) ε0E
2Ad 

2) ½ ε0E
2Ad 

3) ½ ε0E
2 / Ad 

4) ε0E
2 / Ad 

 

18. The capacity of an isolated conducting sphere of 

radius R is proportional to 

1) R2 

2) 1/ R2 

3) 1/ R 

4) R 

 

19. An electric dipole placed in a uniform electric 

field experiences, in general 

1) a force and a torque 

2) a force only 

3) a torque only 

4) neither a force nor a torque 

 

20. A field of 100 Vm–1 is directed at 30º to positive 

x–axis. Find VBA if OA = 2m and OB = 4m 

 
1) 100 (√3 – 2) V 

2) 100 (2 + √3) V 

3) 100 (2 – √3) V 

4) 200 (2 + √3) V 

16. gpd;tUk; Rw;Wfspy; A kw;Wk; B Gs;spfSf;F 
,ilNaahd njhFgad; kpd;Njf;Fjpwd; 

 
1) 1 μF 

2) 2 μF 

3) 4 μF 

4) 8 μF 

 

17. xU ,izj;jl;L kpd;Njf;fpapd; FWf;Fntl;L 
gug;G A vdTk;> jl;LfSf;F ,ilNaahd 
njhiyT 'd' vdTk; nfhs;f. mj;jl;LfSf;F 
,ilNa rPuhd kpd;Gyk; nray;gl;lhy;> 
,izj;jl;L kpd;Njf;fpia kpd;Ndw;wk; 
nra;aj; Njitg;gLk; Mw;wy; 
1) ε0E

2Ad 

2) ½ ε0E
2Ad 

3) ½ ε0E
2 / Ad 

4) ε0E
2 / Ad 

 

18. R Muk; cila jdpikg;gLj;jg;gl;l flj;Jk; 
Nfhsj;jpd; kpd;Njf;Fjpwd; MdJ 
fPo;fz;ltw;wpy; vijg; nghWj;J khWk; 
1) R2 

2) 1/ R2 

3) 1/ R 

4) R 

 

19. xU rPuhd kpd;Gyj;jpy; itf;fg;gl;Ls;s kpd; 
,UKid czh;tJ 

1) tpir kw;Wk; jpUg;G tpir 

2) tpir kl;Lk; 
3) jpUg;G tpir kl;Lk; 
4) tpir my;yJ jpUg;G tpir 

 

20. x–mr;rpy; ,Ue;J 30º Nfhzj;jpy; 100 Vm–1 

kjpg;Gila kpd;Gyk; nrYj;jg;gLfpwJ. OA = 

2m kw;Wk; OB = 4m vdpy; VBA If; fhz;f 

 
1) 100 (√3 – 2) V 

2) 100 (2 + √3) V 

3) 100 (2 – √3) V 

4) 200 (2 + √3) V 
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Solutions 

 

1. Answer: (2) 

2. Answer: (1) 

3. Answer: (4) 

4. Answer: (3) 

5. Answer: (2) 

6. Answer: (2) 

7. Answer: (4) 

8. Answer: (3) 

9. Answer: (2) 

10. Answer: (4) 

 

11. ANSWER: (3) 

 

 

12. ANSWER: (3) 

 

 

13. ANSWER: (4) 

 

 

14. ANSWER: (1) 

 

 

15. ANSWER: (3) 

 

 

 

 

19. Answer: (3) 

 

 

20. Answer: (1) 

 

 

 

 

Botany: Biotechnology & its Applications, Zoology: Biomolecules 

Chemistry: Coordination Compounds, Physics: Electrostatic Potential & Capacitance 

I is complex, others are double salts only  

Ligands act as Lewis bases  

A is facial 

B is meridional  

             3d
8       

4s
o
     4p

o
   4d

o 

[NiCl4]
–2

 → NI
+2

 → 4s
o
3d

8
4p

o
4d

o
 

Excess of Cu & Fe are removed by chelating 

ligands D-pencillamine and desferrioxime B 

via the formation of coordination complexes.  

16. Answer: (1) 

 

     = 1.5 + 1.5 = 3 F 

1 P 4

1 1 1 1

C C C C
    

   = 
1 1 1

3 3 3
  = 1 

 C = 1 F 

CP = C2 + C3  

17. Answer: (2) 

18. Answer: (4) 

coulombion force; which is equal to final 

energy stored in capacitor. 

is given by C = (40)R 

 C  R 

Energy required in the work done against 

The capacity of an isolated sphere of radius R 

For a dipole in uniform electric field. 

  0 but Fnet = 0  {∵  qotal = 0} 

� �
 

dv
E

dr
  

B B

A A

dv F.dr 
����

 

VB – VA = 

B

A

F. dr 
� �

= B AF.(r r ) 
� � �

 

= - [(100 cos 30 î  + 100 sin 30
o
 ĵ ). ˆ ˆ(4 j 2i)  

= - [(50 ˆ3 i  + 50 ĵ ). ˆ ˆ( 2i 4 j)  ] 

= 100  3 2 volt 

V = - E. r ..
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